
BIOLOGY  tho foKku 

OPTIONAL 

MODEL PAPER SET  -  I 

SECTION ‘B’ – ZOOLOGY 

Time :- 90 Minutes       Max. Marks – 35 

Class : XII         Pass Marks – 11½ 

 

All questions are compulsory lHkh ç'u vfuok;Z gSA  
Candidates are required to give answer in their own words as far as possible. 
 

GENERAL INSTRUCTION  
 

This question paper consists of four groups i.e. A, B, C, & D  

bl iz'u esa pkj lewg ;Fkk v] c] l vkSj n gSA 
All groups are compulsory lHkh iz'u vfuok;Z gSaA 
 

Group – ‘A’  [k.M & ^v* 
 
Select one correct answer        1 x 10 = 10 

fdlh ,d lgh mÙkj dks pqus 
 
1.  Which one of the following is the genotypic ratio in monohybrid cross ? 

 (a) 9:3:3:1 (b) 1:2:1   (c) 9:7  (d) 3:1 

 ,dladj ØkWl dk thuksVkbfid vuqikr gS & 

 ¼d½  9:3:3:1 ¼[k½ 1:2:1  ¼x½ 9:7  ¼?k½ 3:1 

2. Pyramidine base present in RNA in place of thymine of DNA is 

(a) Adenine (b) Guanine (c) Cytosine (d) Uracil 

 RNA esa DNA ds Fkk;ehu ds LFkku ij ik;k tkusokyk ikbjhfefMu gS & 

 ¼d½  ,fMfuu ¼[k½ X;qosfuu ¼x½ lkbVkslhu ¼?k½ ;wjksfly 

3. In DNA molecule adenine is 15% what would be percentage of guanine 

(a) 15%  (b) 30%  (c) 35%  (d) 70% 

 ;fn fdlh DNA esa ,Msfuu 15% gS rks X;qosfud gksxk & 

 ¼d½  15%  ¼[k½ 30%  ¼x½ 35%  ¼?k½ 70% 

4. Mycorrhiza is an example of  

(a) Decomposers (b) Endoparasitism (c) Symbiotic relationship

 (d) Ectoparasitism 



Ekbdksjstk mnkgj.k gS & 

¼d½  fMdEikstj dk ¼[k½ ,aMksiSjslkbV dk  ¼x½ flaEck;ksfVd 

fjyslufli dk ¼?k½ ,dVksiSjslkbV dk 

5. Name the Hormone released from corpus luteum  

(a) Estrogen  (b) Progesterone  (c) Testosterone 

(d) FSH 

 dkWiZl Y;qfV;e ls fudyus okyk gkeksZu dk uke gS & 

 ¼d½  ,LVªkstu  ¼[k½ izkstsLVsjksu   ¼x½ VsLVksLVsjksu 

 ¼?k½ FSH 

6. What is BOD ?  

(a) Basic ordinary demand   (b) Biochemical oxygen demand 

(c) Biochemical organic decomposer (d) Biological organic decomposer 

 BOD D;k gS \ 

 ¼d½  csfld vkWfMujh fMekaM     ¼[k½  ck;ksdsfedy vkDlhtu fMekaM 

 ¼x½ ck;ksdsfedy vkxsZfud fMdEikstj    ¼?k½  ck;ksyksftd vkxsZfud fMdEikstj 

7. Which one is a restriction enzyme  

(a) Lipase  (b) Ligase (c) ECORI (d) Pepsim 

 dkSu lk izfrca/ku ,Utkbe gS \ 

 ¼d½  ykbist ¼[k½ ykbxst ¼x½ ECORI ¼?k½ isIlhu 

8. Infective stage of Plasmodium to man is   

(a) Gametocyte  (b) Sporozoite (c) Merozoite 

(d) Meta - Merozoite 

euq"; esa IykleksfM;e dh laØked voLFkk gS & 

 ¼d½  xSesVkslkbV   ¼[k½ LiksjkstksbV  ¼x½ esjkstksbV 

 ¼?k½ esVk esjktkbV 

9. The process of formation of mature female gamete is called   

(a) Oogenesis   (b) Spermatogenesis (c) Oogonia 

(d) Spermatocyte 

  



eknk ;qXed cuus dh izfØ;k dks dgk tkrk gSa & 

 ¼d½  vaMtuu  ¼[k½ 'kqØk.kqtuu  ¼x½ fMac dksf'kdktu 

¼?k½ 'kqØk.kqdksf'kdk 

10. Minimata disease is due to pollution of water by  

(a) Oil  (b) Fluoride  (c) Mercury (d) Arsenic  

 feuhekVk jksx ty esa blds iznw"k.k ls gksrk gS & 

 ¼d½  rsy  ¼[k½ QyksjkbV  ¼x½ ejdjh  ¼?k½ vklsZfud 

Group – ‘B’  [k.M & ^c* 
 
vfry?kq mÙkjh; iz'u very short answer type questions  2 x 3 = 6 

 

11. Name the type of synthesis “a” and “b” occurring in the replication fork of DNA 

as shown below ? 

                         5’         3’ 

       3’                      5’ 

 

12. Differentiate between Biodegradable and Non – Biodegradable pollutants ? 

 tSo fuEuhdj.kh; ,oa tSo vfuEuhdj.kh iznw"kd esa vUrj Li"V djsa \ 

13. Expand MRI and NMR ? 

 

Group – ‘C’  [k.M & ^l* 

 
y?kq mÙkjh; iz'u  short answer type questions    3 x 3 = 9 

 

14. What is male heterogamety ? Give two examples of male heterogamety. 

 uj fo"ke;qXerk D;k gS \ blds nks mnkgj.k nsaA 

15. What is Okazaki fragments ? 

 vksdktkdh ÝSxesUVl D;k gS \ 

16. Differentiate between acquired immunity and innate immunity ? 

 vartkZr vlaØkE;rk ,oa mikftZr vlaØkE;rk esa varj Li"V djsaA 



Group – ‘D’  [k.M & ^n* 
 
           5 x 2 = 10 

 

17. What is Oogenesis ? Explain with suitable diagrams. 

 vaMtuu D;k gS \ bldk lfp= o.kZu djsaA 

Or 

 Explain Mendel’s monohybrid cross. Describe Mendel’s law of segregation. 

 easMy ds ,dladj Økl D;k gS \ bld iF̀kddj.k ds fu;e dk mYys[k djsaA 

18. Describe Darwinism. 

 MkfoZuokn dk o.kZu djsaA 

vFkok 

 Explain Harshey – Chase experiment. What was proved through this experiment. 

 gklsZ ,oa pst us vius iz;ksx }kjk D;k fl) fd;k ? le>k,¡A 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



BIOLOGY  tho foKku 

OPTIONAL 

MODEL PAPER SET  -  II 

SECTION ‘B’ – ZOOLOGY 

 

Time :- 90 Minutes       Max. Marks – 35 

Class : XII         Pass Marks – 11½ 

 

All questions are compulsory lHkh ç'u vfuok;Z gSA  
Candidates are required to give answer in their own words as far as possible. 
 

GENERAL INSTRUCTION  
 

This question paper consists of four groups i.e. A, B, C, & D  

bl iz'u esa pkj lewg ;Fkk v] c] l vkSj n gSA 
All groups are compulsory lHkh iz'u vfuok;Z gSaA 
 

Group – ‘A’  [k.M & ^v* 
 
Select one correct answer        1 x 10 = 10 

fdlh ,d lgh mÙkj dks pqus 
 
1.  Which of the following is sex linked disease ? 

 (a) Haemophilia (b) Down’s syndrome   (c) Albinism 

 (d) Turner’s syndrome 

 buesa ls dkSu fyax lgyEurk dk mnkgj.k gS & 

 ¼d½  gheksQhfy;k  ¼[k½ MkmUl flUMªkse  ¼x½ ,YchfuLe 

 ¼?k½ VjuZjl flaMªkse 

2. If in a DNA molecule cytosine is 18% the percentage of adenine would be 

(a) 18%  (b) 32%  (c) 36%  (d) 64% 

 ;fn fdlh DNA esa lkbVkslhu dks 18%  gS rks ,Msfuu gksxk & 

 ¼d½  18%  ¼[k½ 32%  ¼x½ 36%  ¼?k½ 64% 

3. DNA fragments can be separated by a technique known as 

(a) Gel electrophoresis (b) Gel digestion 

(c) Transformation  (d) Microinjection 

  



og izfØ;k ftlds }kjk DNA ds VqdM+ks dks i`Fkd fd;k tkrk gS] dgykrk gS & 

 ¼d½  tsy bYdVªksiksjsfll  ¼[k½ tsy Mkbts'ku 

 ¼x½ VªklaQksjes'ku   ¼?k½ ekbØks batsD'ku 

4. Parasites can be explained as an organism which depends on other for  

(a) Food  (b) Shelter (c) Both food and Shelter 

(d) Reproduction 

ijthoh nwljs tho ij fuHkZj gksrs gSa & 

¼d½  Hkkstu ds fy,  ¼[k½ vkokl ds fy, 

¼x½ nksuksa Hkkstu ,oa vkokl ¼?k½ tuu ds fy,  

5. Biotic potential = ?  

(a) Birth rate – Death rate (b) Birth rate + Death rate 

(c) Birth rate / Death rate (d) Birth rate X Death rate 

 tSfod 'kfDr D;k gS \ 

 ¼d½  tUenj & èR;qnj  ¼[k½ tUenj $ èR;qnjh 

 ¼x½ tUenj@e`R;qnj  ¼?k½ tUenj X e`R;qnj 

6. The number of opposite paired characters on which mendal work  

(a) 2 Pairs (b) 5 Pairs (c) 7 Pairs (d) 8 Pairs 

 easMy us vius iz;ksx ds fy, foijhr y{k.kksa ds tksM+ks dh la[;k gS & 

 ¼d½  2 tksM+k    ¼[k½  5 tksM+k ¼x½ 7 tksM+k    ¼?k½  8 tksM+k 

7. Homologous organs are similar in   

(a) Function  (b) Origin (c) Size  (d) Length 

 letkr vaxks esa leku gksrk gS 

 ¼d½  dk;Z  ¼[k½ mRifÙk  ¼x½ vkdkj  ¼?k½ yackbZ 

8. Study of Cancer is known as    

(a) Parasitology  (b) Ascariasis  (c) Oncology 

(d) Amoebiasis 

foKku dh og 'kk[kk ftlesa dSalj dk v/;;u fd;k tkrk gS & 

 ¼d½  iSjsflVksyksth   ¼[k½ ,sLdsjsfll  ¼x½ vksadksyksth 

 ¼?k½ vehfc,fll 



9. Sertoli Cells are present in    

(a) Testes  (b) Kidney (c) Ovary  (d) Liver 

lVksZyh dksf'kdk ik;k tkrk gS & 

 ¼d½  o"̀k.k esa ¼[k½ o`dd esa ¼x½ vaMk'k; esa ¼?k½ ;d`r esa 

10. Translation is the formation of   

(a) mRNA (b) Hormones  (c) Proteins (d) tRNA  

 Vªkalys'ku esa fuekZ.k gksrk gS & 

 ¼d½  mRNA ¼[k½ gkeksZu   ¼x½ izksVhu  ¼?k½ tRNA 

Group – ‘B’  [k.M & ^c* 
 
vfry?kq mÙkjh; iz'u very short answer type questions  2 x 3 = 6 

 

11. Mention the polarity of  DNA strands a – b and c – d shown in the replicating 

fork? 

                          b         d 

      a                         c 

 

12. What is aerosol ? 

 ,sjkslksy D;k gS \ 

13. What is Parasitism ? Define parasite and host. 

 ijthfork D;k gS \ ijthoh vkSj ijiks"kh dks le>k,¡A 

 

Group – ‘C’  [k.M & ^l* 

 
y?kq mÙkjh; iz'u  short answer type questions    3 x 3 = 9 

 

14. Differentiate between Population and Community. 

 vkcknh ,oa leqnk; esa varj Li"V djsaA 

15. Write short note on Haemophillia. 

 fgeksQhfy;k ij laf{kIr fVIi.kh fy[ksaA 

16. Where does Leyding Cells are found ? What is its function. 

 ysfMXl dksf’kdk dgk¡ ik, tkrs gS \ bldk D;k dk;Z gS \ 



Group – ‘D’  [k.M & ^n* 
 
           5 x 2 = 10 

 

17. What is Spermatogenesis ? Explain with suitable diagrams. 

 'kqØk.kq tuu D;k gS \ bldk lfp= o.kZu djsaA 

Or 

 Describe sex – linked inheritance with the help of an example. 

 fyax&lgyXu oa'kxfr dk mnkgj.kds lkFk o.kZu djsaA 

18. What is Biodiversity ? What are the causes of “Biodiversity loss”. 

 tSo fofo/krk D;k gS \ blds àkl ds izeq[k dkj.kksa dh ppkZ djsaA 

vFkok 

 Differentiate between. RNA and DNA 

 RNA ,oa DNA esa varj Li"V djsaA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



BIOLOGY  tho foKku 

OPTIONAL 

MODEL PAPER SET  -  III 

SECTION ‘B’ – ZOOLOGY 

 

Time :- 90 Minutes       Max. Marks – 35 

Class : XII         Pass Marks – 11½ 

 

All questions are compulsory lHkh ç'u vfuok;Z gSA  
Candidates are required to give answer in their own words as far as possible. 
 

GENERAL INSTRUCTION  
 

This question paper consists of four groups i.e. A, B, C, & D  

bl iz'u esa pkj lewg ;Fkk v] c] l vkSj n gSA 
All groups are compulsory lHkh iz'u vfuok;Z gSaA 
 

Group – ‘A’  [k.M & ^v* 
 
Select one correct answer        1 x 10 = 10 

fdlh ,d lgh mÙkj dks pqus 
 
1.  The Klinefelter’s syndrome has chromosomal constituent 

 (a) 2A + XX (b) 2A + XXY   (c) 2A + Y (d) 2A – XY  

 dyhuQsYVj flaMªkse esa Øksekslkse gksrs gS & 

 ¼d½  2A + XX ¼[k½ 2A + XXY  ¼x½ 2A + Y ¼?k½ 2A – XY 

2. Which of the following sugars is found in RNA ? 

(a) Hexose (b) Fructose  (c) Ribose (d) Glucose 

 buesa ls dkSu lk 'kqxj RNA esa ik;k tkrk gS & 

 ¼d½  gsdlksl ¼[k½ ÝwdVksl  ¼x½ jkbckst ¼?k½ Xywdkst 

3. Which one is wrongly matched - 

(a) Adenine, Thymine - Purines  (b) Thymine, Uracil - Pyremidin 

(c) Uracil, Cytosine - Pyrimidines  (d) Guanine, Adenine – Purines  

buesa ls dkSu xyr gS & 

 ¼d½  ,fMfuu] Fkk;ehu & I;wjhu  ¼[k½ Fkk;ehu] ;wjsfly & ikbjhehfMu 

 ¼x½ ;wjsfly] lkbVkslhu & ikbjhehfMu ¼?k½ X;q;huhu] ,Msuhu & I;wjhu 



4. The immunoglobulin present in mother’s milk is  

(a) Ig A  (b) Ig D  (c) Ig E  (d) Ig M 

Ekk¡ ds nw/k esa ik;k tkusoky bE;quksXyksC;wfyu gSa & 

¼d½  Ig A  ¼[k½ Ig D  ¼x½ Ig E  ¼?k½ Ig M 

5. Acrosome is found in   

(a) Sperm (b) Ovary  (c) Uterus (d) Testis 

 ,Økslkse ik;k tkrk gS & 

 ¼d½  'kqØk.kq esa ¼[k½ vaMk'k; esa ¼x½ xHkkZ'k; esa ¼?k½ o"̀k.k esa 

6. The process of production of sperm is known as  

(a) Spermatogenesis  (b) Oogenesis  (c) Parthenogenesis

 (d) None of these 

 'kqØk.kq cukus dh izfØ;k dks dgrs gSa & 

 ¼d½ 'kqØk.kqtuu    ¼[k½  vaMtuu  ¼x½ ikFkZsukstsusfll   

 ¼?k½  buesa ls dksbZ ugha 

7. AIDS is caused by   

(a) Trichosomonas   (b) HIV   (c) Hepatities G 

 (d) Bacillus Anthracic 

 AIDS dk dkjd gS 

 ¼d½  Vªkbdkseksukl   ¼[k½ HIV   ¼x½ gsisVkbfVl G

 ¼?k½ cSflyl ,aFkzsfll 

8. Which Vitamin is transferred in golden rice    

(a) Vitamin A   (b) Vitamin B12  (c) Vitamin C 

(d) Vitamin D 

xksYMu jkbl esa dkSu lk foVkfeu gksrk gS & 

 ¼d½  foVkehu A   ¼[k½ foVkehu B12  ¼x½ foVkehu C 

 ¼?k½ foVkehu D 

9. Primary Consumer for their food depend on    

(a) Secondary consumer (b) Herbivore  (c) Producer 

 (d) Carnivores 

 



 

 

izFke Js.kh ds miHkksDrk Hkkstu ds fy, fuHkZj gksrs gSa & 

 ¼d½  f}rh; Js.kh ds miHkksDrk ij ¼[k½ 'kkdkgkjh ij  

 ¼x½ mRiknd ij    ¼?k½ ek¡lkgkjh ij 

10. The cross where F1 individual is crossed with recessive one is called   

(a) Back Cross  (b) Test Cross  (c) Dihybrid Cross 

(d) Monohybrid Cross 

 F1 ih<+h ds ladj ikS/ks dks tc le;qXeth vizHkkoh tud ls Økl djk;k tkrk gS rks 

bls dgrs gS & 

 ¼d½  cSd ØkWl  ¼[k½ VsLV ØkWl  ¼x½ f}ladj ØkWl 

 ¼?k½ ,dladj ØkWl 

Group – ‘B’  [k.M & ^c* 
 
vfry?kq mÙkjh; iz'u very short answer type questions  2 x 3 = 6 

 

11. Name two sex linked disease. 

 nks fyax lgyXu chekjh ds uke fy[ksaA 

12. DNA finger printing requires _________ satellite DNA. This region has _____ 

repeats. 

13. What is food chain ? Give one example. 

 vkgkj J[̀kayk D;k gS \ ,d mnkgj.k nsaA 

Group – ‘C’  [k.M & ^l* 

 
y?kq mÙkjh; iz'u  short answer type questions    3 x 3 = 9 

 

14. Describe the structure of antibody. 

 ,aVhckWMh dh lajpuk dk o.kZu djsaA 

15. Label the parts of sperm given as 1, 2, 3, 4, 5 & 6. 

 fn, x, fp= esa 1] 2] 3] 4] 5 vkSj 6 dk ukekadu djsaA 



 

 

 

 

16. How many types of Blood groups are found in Human beings ? Which blood 

group is called universal donor ? 

euq"; esa fdrus jDr lewg ik, tkrs gS \ fdl jDr lewg dks loZnkrk dgk tkrk 

gSA 

Group – ‘D’  [k.M & ^n* 
 
           5 x 2 = 10 

 

17. What are homologous and analogous organs ? Explain by giving example. 

 letkr vax ,oa vletkr vax D;k gS \ mnkgj.k nsdj le>kb, \ 

vFkok 

 Give an account of the processes of recombinant DNA technology. 

 iqu;ksZxt DNA izkS|ksfxdh ds izØe dk o.kZu djsaA 

18. What do you understand by multiple allelism ? Write one common example of 

multiple allelism ? 

 cgqfodYirk ls D;k le>rs gSa \ cgqfodYirk dk mnkgj.k nsaA 

vFkok 

 Discuss the Biotic components of pond ecosystem. 

 ,d rkykc ds ikfjfLFkfrd ra= ds izeq[k tSfod ?kVdksa dk o.kZu djsaA 

 

 

 



 

BIOLOGY  tho foKku 

OPTIONAL 

MODEL PAPER SET -   IV 

SECTION ‘B’ – ZOOLOGY 

 

Time :- 90 Minutes       Max. Marks – 35 

Class : XII         Pass Marks – 11½ 

 

All questions are compulsory lHkh ç'u vfuok;Z gSA  
Candidates are required to give answer in their own words as far as possible. 
 

GENERAL INSTRUCTION  
 

This question paper consists of four groups i.e. A, B, C, & D  

bl iz'u esa pkj lewg ;Fkk v] c] l vkSj n gSA 
All groups are compulsory lHkh iz'u vfuok;Z gSaA 
 

Group – ‘A’  [k.M & ^v* 
 
Select one correct answer        1 x 10 = 10 

fdlh ,d lgh mÙkj dks pqus 
 
1.  Scrotum is associated with 

 (a) Ovary  (b) Liver   (c) Testis  (d) Pancreas 

 o"̀k.kdks.k ik;k tkrk  gS & 

 ¼d½  vaMk'k; ¼[k½ ;d`r  ¼x½ VsfLVl ¼?k½ vXU;k'k; 

2. Okazaki fragments are formed during 

(a) Transcription (b) Translation  (c) Replication 

(d) Transduction 

 vksdktkdh ÝSXesaVl curs gSa & 

 ¼d½  VªkalfØI'ku esa ¼[k½ Vªkalys'ku esa  ¼x½ jsIyhds’ku esa 

 ¼?k½ VªkalMd'ku esa 

3. PCR stands for 

(a) Polymerase chemical reaction  (b) Polymerase chain reaction 

(c) Primary chain reaction   (d) Polymerase chain restriction 



 

PCR gS & 

 ¼d½  iksyhejst dsfedy fj,D'ku  ¼[k½ iksyhejst psu fj,D'ku 

 ¼x½ izkbejh psu fj,D'ku   ¼?k½ iksthejst psu jsfLVªD'ku 

4. After exponential phase, population becomes stagnant growth curve is   

(a) Circular  (b) Fluctuating  (c) J – Shaped 

(d) S – Shaped  

tc vkcknh rhoz xfr ls c<+us ds ckn fLFkj gks tkrh gS og of̀) xzkQ gksrk gS & 

¼d½  ldqZyj  ¼[k½ vfLFkj   ¼x½ J&vkdf̀r  

¼?k½ S&vkd`fr 

5. 9:3:3:1 ratio is due to    

(a) Segregation  (b) Independent Assortment 

(c) Crossing Over (d) Mutation 

 9:3:3:1 vuqikr ik;k tkrk gS blds dkj.k 

 ¼d½  iF̀kd~dj.k  ¼[k½ Lora= viO;wgu ¼x½ Økaflx vksoj 

 ¼?k½ E;wVs'ku 

6. Homologous structures supports ___________ evolution 

(a) Divergent  (b) Convergent  (c) Darwin’s Theory 

(d) None of these 

 letkr jpuk,¡ ------------- Øe fodkl dks iznf'kZr djrh gSA & 

 ¼d½ MkbotsZUV   ¼[k½  dUoZtsUV  ¼x½ MkfoZu dk fl)kUr 

 ¼?k½  buesa ls dksbZ ugha 

7. Which of the following is sex – linked disease   

(a) Haemophillia   (b) Diabetes  (c) Influenga 

 (d) Tuberculasis 

 buesa ls dkSu fyax lgyXurk dk mnkgj.k gS & 

 ¼d½  fgeksQhfy;k   ¼[k½ e/kqesg   ¼x½ bUQyq,satk 

 ¼?k½ V;wcjD;qyksfll 

8. Total number of chromosomes in fertilized eggs of human beings is    

(a) 46  (b) 8  (c) 23  (d) 16 



DNA 

euq"; ds fuf.kfpr vaMs esa xq.klw=ksa dh la[;k gksrh gS & 

 ¼d½  46  ¼[k½ 8  ¼x½ 23  ¼?k½ 16 

9. Overall ability of living body to fight against disease is called    

(a) Interferon (b) Allergy (c) Immunity (d) Incubation 

fdlh ltho dh chekjh ls yM+us dh {kerk dgykrh gS & 

 ¼d½  bUVjQsjksu ¼[k½ ,yZth  ¼x½ bE;qfuVh ¼?k½ bUd;qcs'ku 

10. Theory of natural selection was proposed by   

(a) Thomas Malthus (b) Purkinjee  (c) Watson and Crick 

(d) Charles Darwin 

 izkd`frd pquko dk fu;e izfrikfnr fd;k Fkk & 

 ¼d½  FkkWel ekyFkl  ¼[k½ iqjfdats ¼x½ okVlu ,oa fØd 

 ¼?k½ pkYlZ MkfoZu 

Group – ‘B’  [k.M & ^c* 
 
vfry?kq mÙkjh; iz'u very short answer type questions  2 x 3 = 6 

 

11. Label the following  fuEukafdr esa (a) vkSj (b) fy[ksa 

   RNA     Proteins 

 

12. Write full form of 

(a) PAN 

(b) CNG 

13. Write the chromosomal configuration of Klinefelter syndrome and Turners 

syndrome 

 fdyuQsYVj flUMªkse ,oa VuZj flUMªkse esa xq.klw=kas ds laxBu dks fy[ksaA 

Group – ‘C’  [k.M & ^l* 

 
y?kq mÙkjh; iz'u  short answer type questions    3 x 3 = 9 

 

14. What is Eutrophication ? What is its effects on aquatic organisms 

 lqiks"k.k D;k gS \ blls tyh; thoksa ij D;k izHkko iM+rk gSA 

 

(a) (b) 



15. Write a short note on the structure and utility of plasmid 

 IykfTeM dh lajpuk rFkk mi;ksfxrk ij ,d laf{kIr fVIi.kh fy[ksaA 

16. Match the column dkWye ‘A’ dks dkWye ‘B’ ls feyk,¡ 

  Column A       Column B 

 (i) Acrosome   (a) Testis 

 (ii) Graafian follicle  (b) Sperm 

 (iii) Leydig’s Cells  (c) Ovary 

 

Group – ‘D’  [k.M & ^n* 
 
           5 x 2 = 10 

 

17. How is sex – determined in human ? 

 ekuo esa fyax & fu/kkZj.k dSls gksrk gS \ 

vFkok 

 In brief describe semi – conservative replication of DNA with the help of suitable 

diagram. 

 DNA izfrdj.k ds v/kZlaj{kh er dk lfp= o.kZu djsaA 

18. Discuss the phenomenon of incomplete dominance with example. 

 viw.kZ izHkkfork dk mnkgj.k lfgr le>k,¡A 

vFkok 

 What is Biomagnification ? Explain with suitable example. 

 tSo vkoZ/ku D;k gS \ mnkgj.k lfgr O;k[;k djsaA 

 

 

 

 

 

 

 

 



BIOLOGY  tho foKku 

OPTIONAL 

MODEL PAPER SET  -  V 

SECTION ‘B’ – ZOOLOGY 

 

Time :- 90 Minutes       Max. Marks – 35 

Class : XII         Pass Marks – 11½ 

 

All questions are compulsory lHkh ç'u vfuok;Z gSA  
Candidates are required to give answer in their own words as far as possible. 
 

GENERAL INSTRUCTION  
 

This question paper consists of four groups i.e. A, B, C, & D  

bl iz'u esa pkj lewg ;Fkk v] c] l vkSj n gSA 
All groups are compulsory lHkh iz'u vfuok;Z gSaA 
 

Group – ‘A’  [k.M & ^v* 
 
Select one correct answer        1 x 10 = 10 

fdlh ,d lgh mÙkj dks pqus 
 
1.  Leydig cells are found in 

 (a) Testies (b) Ovary   (c) Vasa deferens (d) Stroma  

 ysfMXl dksf’kdk ik;k tkrk gS & 

 ¼d½  o"̀k.k esa ¼[k½ vaMk'k; esa ¼x½ 'kqØokfguh esa  ¼?k½ LVªksek esa 

2. Nucleotide base present in DNA and not in RNA is 

(a) Cytosine (b) Thymine  (c) Uracil  (d) Guanine 

 U;wfdy;ksVkbM {kkj tks DNA esa gksrk gS ijarq RNA  esa ugha gksrk gS & 

 ¼d½  lkbVkslhu ¼[k½ Fkk;ehu  ¼x½ ;wjsfly ¼?k½ Xobuhu 

3. Nucleasome contains 

(a) Only histones  (b) Both DNA and histones 

(c) Only DNA   (d) Both DNA and RNA 

U;wfdy;kslkse esa gksrk gS & 

 ¼d½  dsoy fgLVksu  ¼[k½ nksuksa DNA vkSj fgLVksu 

 ¼x½ dsoy DNA   ¼?k½ nksuksa DNA vkSj RNA 



4. Types of interaction between predation and parasitism are.  

(a) +, +  (b) –, –  (c) +, O  (d) +, – 

iju{k.k ,oa ijthfork esa nks tkfr;ksa ds chp ijLij laca/k gksrk gS & 

¼d½  +, +  ¼[k½ –, –  ¼x½ +, O  ¼?k½ +, – 

5. Turners syndrome is represented by    

(a) XXY  (b) XO  (c) XXX  (d) XXO 

 VuZjl flaMªkse esa gksrk gS & 

 ¼d½  XXY  ¼[k½ XO  ¼x½ XXX  ¼?k½ XXO  

6. Number of Chromosomes found in human being is   

(a) 4 Pairs (b) 22 Pairs (c) 23 Pairs (d) 24 Pairs 

 Ekkuo esa ik, tkusokys xq.klw=ksa dh la[;k gksrh gS & 

 ¼d½ 4 tksM+h ¼[k½  22 tksM+h ¼x½ 23 tksM+h   ¼?k½  24 tksM+h 

7. Primary spermatocyte produces H spermatozoa but primary oocyte produces 

(a) 1 Ovum  (b) 2 Ova  (c) 3 Ova  (d) 4 Ova 

 izkFkfed 'kqØ.kq dksf'kdk 4 iwoZ 'kqØk.kq cukrh gS tcfd izkFkfed fMac dksf’kdk ------------ 

vaMk cukrh gSA 

 ¼d½  1 vaMk  ¼[k½ 2 vaMk.kq ¼x½ 3 vaMk.kq ¼?k½ 4 vaMk.kq 

8. Who is considered as father of genetics ?    

(a) Morgan (b) Mendel (c) Hugo – de – vries (d) Darwin 

buesa ls fdUgsa vuqokaf’kdrk dk tud dgk tkrk gS & 

 ¼d½  ekxsZu  ¼[k½ esaMy  ¼x½ g;wxks&Mh&osfjt ¼?k½ MkfoZu 

9. Ecological food chain cannot begin in the absence of     

(a) Producer (b) Carnivorous  (c) Decomposer 

(d) Consumer 

ikfjfLFkfrfd; vkgkj J[̀kayk blds vkHkko esa vkjaHk ugha gks ldrk gS & 

 ¼d½  mRiknd ¼[k½ ek¡lgkjh  ¼x½ vi?kVd  

 ¼?k½ miHkksDrk 

10. Blood of which group can be given to a patient of any blood group ? 

(a) O  (b) A  (c) B  (d) AB 

  



og jDr lewg tks fdlh Hkh jksxh dks fn;k tk ldrk gS & 

 ¼d½  O  ¼[k½ A  ¼x½ B  ¼?k½ AB 

 

Group – ‘B’  [k.M & ^c* 
 
vfry?kq mÙkjh; iz'u very short answer type questions  2 x 3 = 6 

 

11. Name two sexually transmitted disease 

 nks ;kSu lapkfjr jksxksa ds uke fy[ksa 

12. Write full form of 

 (a) PCR 

 (b) ELISA 

13. What are restriction endonuclease ? 

 jsLVªhdlu ,.MksU;qfdylstst D;k gS \ 

Group – ‘C’  [k.M & ^l* 

 
y?kq mÙkjh; iz'u  short answer type questions    3 x 3 = 9 

 

14. Label the parts of a nucleosome given as 1, 2, 3 & 4 

 

 

15. Match the column dkWye ‘A’ dks dkWye ‘B’ ls feyk,¡ 

  Column A    Column B 

 (i) Sericulture   (a) Beekeeping 

 (ii) Pisciculture   (b) Rearing of silkworm 

 (iii) Apiculture   (c) Rearing of Fishes 

16. What is the role of decomposers in an ecosystem ? 

vi?kVudÙkkZ dk ikfjfLFkfrd ra= esa D;k Hkwfedk gSA 



 

Group – ‘D’  [k.M & ^n* 
 
           5 x 2 = 10 

 

17. Describe the structure of DNA with the help of diagram. 

 DNA dh jpuk dk lfp= o.kZu djsaA 

vFkok 

 Explain Mendels dihybrid cross. Describe Mendels Law of Independent 

assortment. 

 easMy ds f}ladj ØkWl dh O;k[;k djsaA esaMy ds Lo=ar viO;wgu ds fu;e dk o.kZu 

djsaA 

18. What is adaptive radiation ? Explain with example. 

 vuqdwyh fofdj.k ls D;k le>rs gSa mnkgj.k lfgr o.kZu djsaA 

vFkok 

 What is Haemophilia ? Write its sex – linked imheritance pattern. 

 fgeksQhfy;k D;k gS \ blds fyax & lgyXu oa'kkxfr iSVZu dks le>k,¡A 

 

 

 

 

 


